CPCTC Proofs Name Block

Complete the following proofs.

1. Given: GH=KL, £G=«£K, and GI=K] 2. Given: ZMNP=£0PN, and MN=0P
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Prove: HI=L] Prove: MP=ND
Statements R Statements Reasons
1. GH=KL 1. Given L L. Given
2, 2, Given 2. MN=0OP Z.
3. CI=K] ; 3. NP=NP 3.
T ) 4. AMNP=AOPN 4,
4 _ 4. 5AS 5. 5. CPCTC
5. HI=L] 5.
3. Given: ST=VU L 4. Given: AC=CE, DC=BC
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Prove: £5VT=2UTV Prove: ZB=2D
Statements | Reasons Statements Reasons
1. 1. Given L 1.
2. 2, Reflexive Property 2, 2. Given
3. 3. HL 3. 2ZACB=+DCE 3.
4, £SVT=£UTV |4, 4. AABC=ADEF | 4.
5. £B=£D 5.
5. Given: GHI|JT, I is the midpoint of HK and 6. Given: AB||DE, AE bisects BD
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Prove: 2G=2]
Statements Reasons Prove: AC=EC
1. GHI[JT L Statements Reasons
2.11is the midpoint of HK | 2. 1. 1.
3. 3. Given 2. 2. Given
4, HI=I 4. 3. £ABC= £EDC 3.
S5 5. Corresponding 4. £ACB= £DCE 4,
6. 6.5AS 5. 5. Def of Bisect
7. £G=£] 7. 6. AABC=AEDC 6.
7. 7.




7. Given: GH=]K, HI=KL, and IG=L]
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Prove: Z1=2L

9.Given: AC=EF, and AB=ED
E

Prove: BC=FD

11. Given: TS||[VW, TU=WU
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Prove: TS=VW

8. Given: ZN=£P, zZM=,Q, and MO=QR
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Prove: £0=£R

10. Given: GH=]I, £GH]=£IJH
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Prove: GJ=HI

12. Given: HGI|JT, GI=IK, and £HIG= £]KI
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Prove: £C=+F



